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 i. introduction


In an earlier paper (Fraser, 1996) I proposed the functional class of Pragmatic Markers, linguistic forms that have meaning but do not contribute to the propositional content of the sentence of which they are a part. I suggested that there are four subclasses: (1) Basic Markers, such as please and I promise, which signal aspects of the direct literal basic message intended by the speaker; (2) Commentary Markers, such as frankly and certainly, which signal a message commenting on the basic message; (3) Parallel Markers, such as Sir, damned, and hey, which signal a message accompanying the basic message; and (4) Discourse Markers, such as and, but, and so, which signal how the discourse segment, of which they are a part, is semantically related to the previous segment. 


In this paper I am concerned with Contrastive Discourse Markers (CDMs), a sub-class of Discourse Markers, represented in bold type in the following examples,
(1)
a) He started late. But he arrived on time,


b) David rarely goes out. Instead, he just stays home and drinks.
c) Susan is 6 foot tall. In contrast, her sister is only 4 feet, 11 inches. 

d) I’m a nurse. However, my husband won’t permit me to work.
e) Give up? On the contrary, I’ve only begun to fight.

where the second segment, S2, has a type of contrastive relationship with the prior segment, S1.


In particular, I am concerned with the Contrastive Discourse Marker but and whether it has an equivalent in other languages that functions as but does in English. I take the following as working hypotheses: 



hypothesis 1: There is a single, primary Contrastive Discourse Markers in every lan-



guage (in English, it is but).



hypothesis 2: The uses of these primary CDMs are the same across languages.


The first hypothesis is presumably true although to my knowledge it has not been explored. The second hypothesis is worthy of study as research on DMs goes beyond individual terms in a single language. If Hypothesis 2 is shown to be strongly supported, then, for example, but in English, aber in German, mais in French, and pero in Spanish, would all enjoy the same uses when they function as DMs. It would mean that the primary CDM for each language could occur in the following linguistic contexts:

(2)
a) John is fat, ____ Mary is thin.

b) I’m a nurse. ____ my husband won’t let me work.

c) The flower was beautiful, ____ it was plastic.

d) A: All the boys left. B: ____ there were only two boys to start with.

e) A: I realize that John is sick. B: ____ John isn’t sick.

f) John died yesterday, ____ he had been ill.

g) A: John is home. B: ____ I just saw him at the store.


The choice of but as the first DM to examine as it occurs across languages seems reasonable, since I would predict that if there is a universality across languages with any DMs, markers like but, so, and and would be the prime candidates, in contrast to other more specific DMs such as rather, consequently, and furthermore.


The purpose of this paper is threefold. First, I will present a statement of the different possible contrastive contexts in English and explore to what extent the DM but occurs in each of them.
 Second, I will describe the methodology used to gain the data that bears on these hypotheses. And third, I will present the progress to date on testing the two above hypotheses, showing the extent to which each are borne out and suggest how to account for apparent anomalies.

ii. the contrastive contexts of english and the occurrence of but

In order to establish the distinctive contrastive contexts within English discourse, I considered the following set of CDM of English,

(3) all the same, (al)though, but, contrary to expectations, conversely, despite, even so, except, however, in spite of, in comparison (with), in con​trast (to), instead (of), nevertheless, nonethe​less, only, on the other hand, on the contrary, rather (than), or, regardless, still, to the contrary, whereas, while, yet

and determined, when each CDM was present in discourse, what relationship between the segments is signaled. For example, in (4a),

(4)
a) I could go to the movies tonite. On the other hand, I could also stay home and watch TV.


b) John doesn’t plays the piano anymore. Instead, he listens to opera on his radio.

c) A: I regret John is sick. B: Except John isn’t sick. He just looks that way.
the CDM on the other hand signals that there are two contrasting alternatives under consideration, one conveyed by S1, the other by S2; in (4b), instead signals that the segment following, S2, conveys what actually occurred (or will occur), in contrast to the information provided in S1, which conveys a potential action which did not (will not) occur. And in (4c), except signals that the segment following contradicts and rejects a presupposition derived from S1, namely, that “It is true that John is sick.” For these three examples, although certainly not for all cases, the contrastive contexts are mutually exclusive: on the other hand cannot occur in the context created in (4b) or (4c), and so forth.

As a result of this examination of contrastive contexts in English, I have found that there is a major distinction – direct vs. indirect contrastive contexts – and within each type of contrast context, several subtypes. I treat them in turn.
a. direct contrastive context 

A direct contrastive context (DCC) occurs when, for a sequence S1 – CDM – S2, it is possible to compare the explicit interpretation of S2 with the explicit interpretation of S1 and thereby derive what can be construed as a meaningful semantic contrast of the type signaled by the particular CDM. For example, in sequences (5) containing the CDM on the other hand, a DCC exists if the hearer is able to find a semantic relationship between S2 and S1 which can be construed as an alternative. In (5a) the alternative relationship is obvious, but in (5b) I am unable to find an alternative contrast, in fact, any contrast at all.
(5) 
a) I could go to the movies tonite. On the other hand, I could also stay home and watch TV.


b) Susan worked for a long time on the puzzle. On the other hand, the pizza burned up.

There are six different DCC in English, determined by the one or more CDMs with similar meanings which define them: (1) simple contrast (but; not only…but also); (2) alternative contrast (on the other hand; or); (3) comparative contrast (in comparison; in contrast); (4) paired-opposite contrast (conversely); (5) replacement contrast (instead; rather); and (6) corrective contrast (on the contrary). In each case, the resulting interpretation of the S1-CDM-S2 sequence is a contrast between S2 and S1 that the speaker considers to be worth noting.
 
simple direct contrast

The simple type of DCC occurs when but is the CDM, where the CDM signals that the relationship between the segments constitutes a semantic contrast of some sort between S2 & S1, and, where there is no other, more specific relationship intended. The examples in (6) are illustrative.

(6)
a) Three is a prime number, but four is not.


b) Enter quietly, but leave noisily.


c) Harry plays soccer but not football.


d) Jim is very smart, but Henry is very athletic. 


e) He gave toys to the boys but she gave dolls to the girls.

In each of these examples, when the two segments are contrasted a meaningful contrast is revealed. For example, in (6a) it’s prime numbers; in (6c) it’s sports Harry plays. This not the case with (7), 

(7) There is food on the table. But don’t you dare touch it.

where there is no semantic contrast between the explicit meanings of the two segments.
 It is interesting to note that with a simple DCC, either order of the segments is permissible with no change in interpretation, and that only declarative and imperative sequences are acceptable.


There is a variation of simple direct contrast, illustrated in (8).
(8)
a) John is (not only) a cop but he is a lawyer also.


b) Not only does Sam play baseball, but Mary plays too.


c) (Not only) Take an apple, but take a pear also.

d) (Not only) Don’t stand in the hall. But don’t sit down either.

e) A: John left early. B: But didn’t Mary leave early also.
These sequences contain a compound DM, not only…but also, where the initial not only is often optional.
 This compound CDM, in contrast to the CDM but just discussed, is signaled by the presence of also or another form such as too, in addition, or either (when S1 is negative).
 Just as above, there is direct contrast here, between the two segments, although the not only may be only implied. Here, also, the segments are balanced, occurring in either order. Again, only declarative and imperative sequences are permissible.

alternative direct contrast


The next three cases are refinements on simple DCC. The first is defined as occurring when the CDM on the other hand, on the one hand…on the other hand, alternatively, or or is present, where the CDM signals that the relationship between the segments constitutes alternative states or actions that are in contrast. This context is reflected in (9).

(9)
a) I could go to the movies tonight. On the other hand I could (also) stay home and watch 
TV.

b) John is very smart. On the other hand, Jim is very athletic.

These options may be inherent in the meaning of the two segments, as in (9a). In this case, the meaning signaled by the CDM is redundant in which case it is deletable. Or the alternatives relationship may have to be provided by the discourse context. For example, the contrast between the two segments in sequence (9b) as it stands does not appear to provide alternatives. However, if the prior discourse were about needing a member for a role in a movie who was both smart and athletic, and if John were smart but non-athletic and Jim were athletic but not smart, then the sequence (9b) meets the requirements of on the other hand and is acceptable.


The CDM but may occur in the alternative DCC. When the discourse segments S2 and S1 specifically reflect the alternative options in their explicit interpretations, as in (9a), the sequence with but receives the same interpretation as if on the other hand were present, namely, the but provides the contrast, the segments provide the alternatives. If, however, as in (9b), the segments do not provide the alterative relationship, the sequence with but may be interpreted as only simple contrast unless the discourse context fills in the details.
comparative direct contrast


The third contrastive context is defined as occurring when in comparison (with/to this/that), by comparison, compared to,  in contrast (with/to this/that), contrasted to/with is present, where the CDM signals that the relationship between the segments constitutes a comparison or a contrast. The sequences in (10) are illustrative.
(10)
a) John weighs 180 pounds. In comparison/In contrast, Jim weighs 150.


b) He isn’t even 5 feet tall. In comparison/In contrast, she is well over 6 feet.



c) Iraq is a dictatorship. *In comparison/In contrast, the U.S. is a democracy.




d) John can’t see very well. *In comparison/In contrast, he can hear perfectly.


Although the distinction between the CDMs in comparison and in contrast is hard to illustrate, I suggest (though with some hesitation) that the former occurs only when the value of the aspect is continuous (weight, height, intelligence, etc.) whereas the latter can occur both with continuous and discrete variable (type of government, car, etc.). In this DCC, the sequences may be declarative only. The CDM but may occur in this DCC, subject to the same restrictions as were enumerated above for but occurring in the on the other hand DCC. Likewise, on the other hand may occur, subject to the same conditions.
paired-opposite direct contrast


The fourth case of direct contrast is defined as occurring when alternatively or conversely is present, where the CDM signals that the relationship between S2 and S1 constitutes a paired opposition contrast. The sequences in (11) are illustrative.
(11)
a) What we gain in speed, we lose in sensitivity. Conversely, what we gain in sensitivity, 


we lose in speed.

b) All athletes are not intellectuals. Alternatively all intellectuals are not athletes. 

Again, only declarative sequences are permitted. The CDMs but and on the other hand may occur in this context, subject to the conditions discussed above. However, in comparison/in contrast may not occur. Likewise, conversely may not occur in the comparison DCC.
replacement direct contrast


The fifth direct DCC is defined by the CDMs instead, instead of (this/that), rather, rather than(this/that), where the CDM signals that S1 must represent an action or a state which did not/will not occur, in contrast with S2, which represents an action or a state which did/will occur. 

Looking at instead first, there are four ways in which the speaker can linguistically indicate that S1 did not/will not occur. These are illustrated in (12). 

(12)
a) John didn’t agree with her. Instead, he took exactly the opposite position.



b) Mary rarely goes shopping. Instead, she stays at home and knits.


c) She should have tried to open the door. Instead, she simply ignored the boys.



d) He expected to win easily. Instead, he lost by a large margin.

In the first context, (12a), S1 contains an explicit, unincorporated negation.
 In the second, (12b), S1 contains a negative adverb of time (never, rarely, seldom, infrequently,…). In the third, (12c), S1 contains a conditional modal (could, should or might) followed by have, implying that the action or state represented did not occur, while in the fourth, (12d), S1 contains a higher-order verb which implies the negative.


Interestingly, instead does not occur when S1 represents a state, as in (13), which is a case of metalinguistic negation (Horm, 1985).
(13)
a) *Harry is not a policeman. Instead, he’s a security guard.



b) *He wasn’t exactly crazy. Instead, he was just a little drunk.



c) *John was not encouraged. Instead, he was seriously discouraged.


A variation of instead, instead of (doing that), may be used when S1 contains an explicit negative with no modal, as illustrated in (14). 
(14)
a) I didn’t participate. Instead, I just observed.



b) Instead of participating, I just observed.

The explicit negation is removed from S1 when the instead of form is used. Since this is not possible in the other three cases, (12b-d), this presumably accounts for the fact that they do not occur with instead of.


While rather and instead are generally considered to be roughly synonymous, the context for rather is slightly different. Whereas the first two contexts of instead (explicit negation and negative adverbial, illustrated in (12a) and (12b), respectively) are acceptable for rather, the latter two contexts are not. However, when S1 represents a state, as in (13), rather is acceptable.


There is a variation of rather, rather than (doing that), that may be used analogous to instead of only when S1 is an explicit negative without a modal.

(15)
a) I didn’t go. Rather, I just lounged around at home.



b) I didn’t go. Rather than going, I just lounged around at home.



c) Rather than going, I just lounged around at home.


The CDM but occurs in three of the four direct replacement contexts illustrated in (12), but the interpretation of the sequences seems to be that of direct contrast rather than the sense of instead. This is shown in (16). 

(16)
a) John didn’t agree with her. Instead, he took exactly the opposite position.



b) She should have tried to open the door. But she simply ignored the boys.



c) He expected to win easily. But he lost by a large margin.

corrective direct contrast


This final DCC is defined by on the contrary/to the contrary, where the CDM signals that S1 constitutes the version of the action/state which is incorrect/inaccurate, in contrast with S2 which constitutes an action/state which is correct/accurate. There are two separate cases: (1) where S1 and S2 are spoken by a single speaker; and (2) where S1 and S2 are spoken by different speakers. 

In the one-speaker sequences, as in (17),

(17)
a) George didn’t fight for his country. On the contrary, he never showed up at all.


b) Mary didn’t make a trivial mistake. On the contrary, she made a horrendous error.



c) Mary didn’t make a horrendous error. On the contrary, she made only a trivial mistake.
there are two variations of contrast, albeit different from those contrasts already discussed.


The first, as in (17a), requires the contrast to be the opposite value, or nearly so, of an S1 term (e.g., fighting  v. not showing up).
 The second, as in (17b), requires the correction to be a different value along the same continuum. (e.g., trivial mistake v. horrendous error). The correction may go in either direction, as 17c) shows.


For the one-speaker case, the speaker can signal S1 as being inaccurate in one of three ways: (1) by using meta​linguistic negation, similar to the rather case above. where it is not the entire proposition that is rejected but rather an aspect of S1, as in (18a); 2) by asking a rhetorical question, as in (18b); and 3) by assigning the value of rejected term (gorgeous) as the responsibility of someone else, a view which can then be corrected by the speaker, as in (18c).

(18)
a) I'm not happy. On the contrary, I'm ecstatic!


b) Throw the game? On the contrary, I’m going to go all out to win.



c) You think she is gorgeous. On the contrary, I find her rather ordinary looking.
The CDM but does not occur in this one-speaker DCC with the same interpretation as on the contrary. Where it does occur, for example (18c), the interpretation is contrary to expectation, discussed below.

The two-speaker corrective contrast context is very different. Segment S1 consists of the first speaker’s contribution setting forth one message, while S2 consists of the second speaker’s message, contradicting the accuracy of the prior message. If S1 is negative, it is propositional not metalinguistic negation. As in the one-speaker context, on the contrary signals that the S2 segment is in the way of a correction to the facts asserted, advice given, or the implication of a question asked, as the sequences in (19) illustrate.

(19)
a) A: He has arrived. B: On the contrary, he won’t arrive for 45 minutes.


b) A: Arrive on time. B: On the contrary, arrive a little late to avoid the rush.


c) A: Don’t/Do you agree with me? B: On the contrary, I emphatically disagree with you.

If but does occur in the corrective contexts, as it could in (19a), it signals a simple contrastive context, not a corrective one. If the sequence is declarative, as in (20),
(20) A: John is at home. B: On the contrary/You are wrong. I just saw him at the mall.

the CDM can be replaced by an assertion of incorrectness.

b. indirect contrastive context 

An indirect contrastive context (ICC) occurs when, for a sequence S1 – CDM – S2, no meaningful direct contrast can be made between the explicit interpretations of S2 and S1. In this second type of contrastive context, a contradiction must be found between the explicit interpretation of S2 and an inference derived from S1. For example, sequence (21a),
(21)
a) I’m a certified nurse. But my husband won’t let me work.


b) I am willing to work.
does not permit a meaningful direct contrast. However, the second segment S2 (My husband won’t let me work) directly contradicts the inference (21b), which is one of many inferences which can be derived from S1. The interpretation such sequences, where the explicit interpretation of S2 contradicts with an inference of S1, is that the speaker intends to reject the inference as being irrelevant in this context.


There are four semantic relationships of indirect contrast: (1) S2 contradicts a contextual inference of S1; (2) S2 contradicts a presupposition of S1; (3) S2 contradicts an entailment of S1; and (4) S2 contradicts an aspect of an illocutionary act conveyed by S1. I will treat these cases in turn. 
S2 contradicts a contextual inference

By far the most robust of these four types is the ICC which is defined by the presence of although, but, contrary to expectations, despite, except, however, in spite of, nevertheless, nonetheless, only, still, whereas, while, yet, where a contextual inference is derived from S1 and contradicted by the explicit interpretation of S2, with the result that the inference from S1 is rejected as irrelevant in this context. This process where there is indirect contrast is, of course, different from that of direct contrast, where the sequences is interpreted as a contrast of messages with the interpretation that the particular contrast stands.

There are several sub-cases of contextual inference. The first of these sub-cases is defined by the CDMs but, contrary to expectation, except, only, and however, where the meaning of the CDM is roughly “contrary to expectation,” and the inference derived from S1 reflects this CDM meaning. These are illustrated in (22)
.
(22)
a) I’m a certified nurse. However/Only I can’t work since I have a cold.


b) It’s raining. But/However/*Only/*Except I want to go out since I need some fresh air.


c) We arrived late to the party. Contrary to expectations, no one seemed to mind.


d) Take off all your clothes. But/Except/Only don’t do it right now.

e) John left early. But/However/Except didn’t Mary leave then too? 


f) A: Where did he go? B: But/*Only/*However, why do you want to know?


g) A: Stop the car right now. B: But/*However/*Only I’ll skid if I try to stop.

The above sequences show that there is great flexibility for the types of sequences (e.g., declarative – interrogative) but except for but, these CDMs are not uniformly acceptable in all contextual inferential contexts. For example, only or except don’t occur in imperative-declarative sequences. Note also that neither on the other hand or any of the other direct contrast CDMs occur in these cases. (See Fraser, 2005b for details.) When but is used, there may be a direct contrast possible, as in (22d), thus rendering the sequence pragmatically ambiguous until the discourse context is brought to bear.

In some of these sequence, for example (22a), segment S2 consists of the contrasting message (“I can’t work”) but, in addition, specifies the reason for the message (“I have a cold”), which may also constitute the entire S2: “But I have a cold.” Such sequences illustrate that, in contrast to the earlier variations, two distinct S2 contents are generally possible: (1) content which contradict the contextual inference; (2) content which provides a reason for the contradiction.


A more restrictive-variation of indirect contrast involving contextual inference is defined by the presence of the CDMs all the same, but, despite, even so, in spite of, nevertheless, still, and yet, where S1 is always a factual statement, S2 is also a declarative segment, and where the interpretation of the CDMs is “despite S1.”
 Like the first sub-type, S2 contradicts a contextual inference of S1 and reject it. This is illustrated in (23).

(23)
a) We left late. But/Nevertheless, we arrived on time.



b) Yes I love you. In spite of that/Nevertheless, I won’t clean up your messes.



c) It’s a terrible thing to say. Yet/All the same/Nevertheless, I wish he were dead.


d) She isn’t very intelligent. Nevertheless/Still/Despite that, I like her.


When S1 is not factual, the sequence is typically unacceptable. Thus, in (24), where S1 is an opinion, the sequence is typically unacceptable.
(24) John is probably right. *But/*Nevertheless, not quite right.

In some cases of a contextual inference, the S1 may be contextual, not verbal (See Blakemore, 1999; Fraser, 2001). For example, suppose a large teenage bully is taking a bicycle from the bike rack at school. His non-verbal message is “I am taking this bike whether you like it or not.” When the bike’s owner, a smaller teenaged boy cries,
(25) But you can’t do that. That’s my bike!
he is rejecting the contextual inference of the bully’s actions which can be assumed to be “I can take this bike.” It is interesting that however nor any of the other CDMs in this group do not occur in this context.


Still another variation, which uses predominantly but and however, is reflected in (26).

(26)
a) A: John was chosen to be a MacArthur fellow. B: But/However (this is understandable, 


since) he is very smart.



b) A: John died. But/However, (after all) (this was expected, since) he had been very ill.



c) A: John died. B: But/However, why is this surprising? He had been very ill.


d) She speaks flawless German. But/However, this is not surprising, given she is German.
where the inference of S1 is that the content of the message is surprising/unsurprising (reasonable/understandable), and the primary message of S2, perhaps elided, is that is was not so unsurprising/surprising. There is often an anaphoric this/that referring back to S1 and there is a marked intonation pattern to signify the interpretation. Only declarative-declarative and declarative-interrogatory sequences occur with this interpretation. Of course, the reason has to justify the (un)surprise, as shown in (27).
(27) *John died. But this is understandable since he was in good health.

S2 contradicts an entailment of S1


This variation is defined by the presence of the CDM but, except, and only (the latter two being more restricted), where segment S2 contradicts an entailment derived from S1, with the interpretation that the entailment is rejected. 
(28)
a) A: Some of the boys left. B: But/Except only one of the boys left. 




[“Some” entails “more than two.”]

b) A: I dried the dishes tonight. B: But how is that possible? You didn’t move a muscle.




[“Drying dishes” entails “physical activity.”]


c) A: Why did John murder Harry? B: But/Except Harry’s not dead, only sleeping.





[“Murder” entails “killing someone.”]
These sequences require two speakers, there is often a reference to S1 with a this/that, and, like the however sequences discussed above, S2 may include the reason or justification for the rejection. S2 is typically spoken with a marked, final-rising intonation with the interpretation of “I don’t believe you.”

S2 contradicts a presupposition of S1


This variation is defined by the presence of but, except, and only, where S2 contradicts a presupposition derived from S1 with the interpretation that the presupposition is rejected.
 As above, the interpretation is “You are wrong/incorrect/misinformed/etc.”

(29)
a) A: I regret John is sick. B: But/Only John isn’t sick. He just looks that way.



[“Regret” presupposes the truth of the propositional complement embedded under it.]

b) A: When did he die? B: But/Except he didn’t die. He just left town.



[When-questions presuppose that truth of the sentence proposition.]
c) A: He is the King of France. B: But there’s no King of France.


[Reference to a specific entity presupposes the existence of that entity.]
As above, two speakers are required and the reason for the contradiction is often present.

S2 contradicts a felicity condition on a speech act convey by S1


This variation is also defined by the CDM but, except, only, and, for representative speech acts (e.g., claims, assertions, stipulations, etc.) on the contrary, where S2 contradicts a felicity conditions on a speech (illocutionary) act conveyed by S1.
 For the sequences in (30), 
(30)
a) A: I apologize for knocking over that vase. B: But/Except you weren’t responsible, since 


you weren’t even here.



[One who apologizes is responsible for the offensive act]


b) A: I order you to sit down. B: But, you don’t have the right to order me.



[One who orders has the right to do so.]


c) A: I will give you roses for your birthday. B: But/Only you know you can’t do that.



[One who promises is capable of carrying out the promise.]


d) A: John is home. B: But that’s impossible, since I just say him at the mall




[One who claims is assumed to be speaking truthfully.]
In all these sequences, the rejections must be of a felicity condition associated with a direct rather than an implicated (indirect) illocutionary act. Thus in (31a),
(31)
a) A: It’s warm in here. B: But you don’t have any basis to assert that.



b) A: It’s warm in here. ( => Turn down the heat. ) B: *But you know I can’t do that.
the direct claim with its felicity condition of truthfulness can be rejected whereas in (31b), the implied request to turn down the heat, which has a speaker felicity condition of hearer ability to do so, cannot be rejected. 

c. summary of contrastive context and the occurrence of but

In all, there are 10 distinct contrastive contexts in English. Of the DCC, the first four contexts (simple contrast, alternative contrast, comparative context, and pair-opposition contrast) all permit but to occur, with the interpretation of the sequences subject to the restrictions stated. The interpretation of the sequence is that the segments stand in contrast in accordance with the individual CDM meaning. The fifth (replacement contrast) context permits but, but without the instead sense, while the sixth (corrective contrast) context does not permit but to occur at all. Of the ICC (arising from S2 contradicting with a contextual inference, an entailment, a presupposition, or a felicity condition derived from S1), but may occur in all, signaling contradiction with the inference of S1, while rejecting the uinference as irrelevant for this discourse.

I note in passing that the sequencing of DMs is fairly involved, including the sequencing of but with other CDMs, as illustrated in (32).

(32)
a) I could go to the movies tonite. But, on the other hand, I could also stay home and 
watch TV.



b) John weighs 180 pounds, but, in contrast, Joe weighs 130.



c) We arrived late. But no one seemed to mind, however.



d) All athletes are not intellectual. But, conversely, all intellectuals are not athletes.



e) John rarely goes out, but instead, stays home and drinks.

But may usually occur as the first of two CDMs in sequence, although in some cases the sequence sound more acceptable if the second CDM is placed finally in S2, as in (32c), and others combinations are downright unacceptable, e.g., but – except and but—on the contrary. In any event, the sequencing of but is not considered in this paper.

iii. non-dm uses of but

Among the non-DM uses of but there are several systematic uses and then a variety of idiomatic uses. I will briefly examine them.
a. systematic uses of but as a non-dm

The first non-DM use of but is that of a topic change pragmatic marker (cf. Fraser, 1996). This group of markers, which includes (but, by the way, incidentally, while I think of it, lest I forget), has the function of signaling a reorientation of the conversational topic. As such, it does not signal a semantic relationship between S1 and S2 and therefore the members of this group of lexical items are not DMs. The following sequences are illustrative. Note that but is not always acceptable as the marker.
(33)
a)A: I had dinner with George last night. B: But/Incidentally did you get paid the money?

 

b) I promise to go. But/By the way, leave me alone for the time being.



c) A: The dinner was delicious. B: But/Lest I forget, where was Tim this evening?

d) This is a typical July day in New England. (*But) Cathy Fuller, by the way, is going to 
sit in for Ron Della Chiesa as your host this afternoon.


The second non-DM use occurs when but is a preposition, roughly equivalent to except, with the exception of, apart from, aside from, excepting, excluding, save, etc. For this use, the head of the PP must contain a pronoun of absolute meaning such as not all, nothing, no one, everyone, every, any, each, everything as opposed to some, many, a couple, a few, etc. The interpretation is that the object of the preposition but is the sole exception to the information represented in the other segment.

(34)
a)Everyone/nobody/*somebody but John was released to go home.


b) Who but/except our old from Tom should turn up.


c) Except for/*but taking her to the circus, nothing would satisfy her.


d) He can’t tolerate anything but/except classical music.

e) Come anytime but/except now


f) You are anything/nothing but a liar.

The third use of non-DM but is that of an adverb, where it is synonymous with only, simply, just, and sometimes merely, as shown in the following examples.
(35)
a) I have but/only/just a moment. 



b) It seems but/just yesterday.



c) I saw Jack but/only once.



d) A: will you win. B: I can but try.



e) He is but/merely a child.

The fourth systematic use of non-DM but occurs with the combination all but (nearly/almost/ practicably/almost) where the interpretation is just less than the scope content.

(36)
a) He has all but/nearly clinched the championship.


b) He all but/nearly strangled me.



c) The paper money in Russia is all but/practicably worthless.



d) They are finding it all but/almost impossible to make a living.


The fifth and final systematic use of non-DM but is illustrated by the following sequences, where S1 must be an apology and carry a deferential tone.
(37)
a) I may be wrong, but…



b) I apologize for saying this, but don’t you think you should drive more slowly?



c) I don’t mean to interfere, but isn’t that a little bit dangerous?



d) Pardon me, but where is the john?



e) I don’t want you to think that I’m biased, but this is the way I was brought up.



f) I’m not sure if this is relevant, but isn’t that bag leaking.

I note that and is not permitted in these sequences,

(38)
a) I don’t mean to interfere, *and isn’t that a little dangerous?



b) Pardon me for saying so, *and you have bad breath.

b. non-systematic uses of but

The other use of non-DM but are must less systematic, some being unique idioms. They are listed below without comment.

(39) a) but good. 



I’ll get you but good.



b) If I could (would/had) but Verb… 



If I could but explain.



c) Rhetorical question 



What belief is so foolish but some will embrace it?



d) can (could) not help but wonder if …



I can’t/couldn’t help but wonder if we did the right thing yesterday.



e) but of course 



A: Is it done? B: (But) of course it’s done/*it’s not done.



f) but the thing that/what pleases him/her most/least 



He is happy with his work, with his 
marriage, and with his children. But what/the thing 


that pleases him most is the fact that he has finally stopped drinking.


g) but above all



Thanks are due to John and Mary. But above all, I want to thank Harry.



h) but for = except for 




But for the grace of God, that was I.

iv. the survey 


In order the determine if other languages have a primary CDM equivalent to but and, if so, if they pattern similar to but in English, I constructed a survey which was sent to native speakers of Arabic, Catalan, Chinese, Danish, Dutch, Finnish, French, German, Greek, Hebrew, Japanese, Korean, Norwegian, Spanish, and Swedish. At least two people responded from each language.


The survey was constructed to include

(40) Those contexts that accept the DM use of but in English




John is not fat ___ is very thin.




We started late ___ we arrived on time.

(41) Those contexts that reject the DM use of but in English



I rarely open the door. ___ I simply ignore them.



Mary didn’t make a trivial mistake. _____ she made a horrendous error.

(42) Those uses of but that are not DMs in English


All left ___ one.


He is ___ a child.


I’ll get him ___ good.

I used mostly declarative sequences both because of space limitation on the survey, but also on the assumption that if the “but” term in another language was viable, it would have a greater chance with declarative forms. 

There were a number of deficiencies in the initial survey. (See the Appendix at the end of this paper for the specific survey questions.) Foremost among them was the fact that I used the contrastive contexts of English (as presented above), and didn’t consider if the contrastive contexts in other languages were different. Second, there was no guarantee that the respondents were in fact truly bilingual, which might have biased their judgments. Third, after subsequent work on the general problem, I realized that I had left certain critical areas uncovered. And fourth, the level of linguistic sophistication varied greatly among the respondents.

Dispute this, the initial results were very encouraging. All speakers identified a primary CDM equivalent to but in English. With a few exceptions, all the uses of but as a DM in English were judged to be similarly used by at least one of the individuals from each language. In many cases, all agreed. Where there was disagreement between language-speakers, it was noted and subsequent surveys will attempt to tease out the reason(s) for this difference in judgement. 


The most consistent disagreement was with sequence such as

(43) John is not tall but short.

where speakers from a variety of languages indicated that an alternative form (Spanish: pero/sino; German: aber/sondern; Hebrew: ela/aval) was required in this context. This was to be expected. There was no other outstanding exception.

The sequences of non-DM uses of but provided some curious results. Three of the sequences were surprisingly judged acceptable across many of the languages.
(44)
a) You may think I’m crazy, ____ where is the dog? 


b) Thanks go to John and Mary. ____ above all, I want to thank Harry.


c) You have to get up early. ____ after all, how much sleep do you need?

with (44a) acceptable to nearly everyone. These results were unexpected and will require further research.
v. conclusion

As has been obvious, this was an initial effort to ascertain if there is a universal CDM in all languages equivalent to but in English and, if so, whether the uses are the same or nearly so. While the results are promising, considerable revision in terms of the deficiencies stated above and re-surveying of English-Languagei bilinguals as well as examination of Languagei vs. Languagej, before any definite conclusions can be drawn.
Appendix

I am soliciting your help in learning the extent to which there is an equivalent of the English term but in your language (e.g. Spanish: pero, German: aber) and if so, if it enjoys the same possibility of uses. For example, will the but of your language fit into the contexts below:


John is fat,____ Mary is thin.


A: John is here. B: ____that can’t be right; I just saw him at the mall.


I’m a nurse, ____ my husband won’t let me work.


Lunch is on the table. ____don’t touch anything yet.

At this time, I am only interested in whether or not but occurs in various linguistic environments, not whether there are other alternatives that are possible. 

In what follows, I have set down some simple sequences in which the but from your language might be used. Please pick the term in your language which corresponds to but, and then test whether or not it could occur in the space provided in the sequence. A simple “N” or “Y” will suffice. If the term for but does not occur in a particular sequence (e.g., in Spanish, pero does not occur in “John is not tall ___ short” while sino does), please mark this with a N. 

Please note:
I have included some examples sequences in which but does not occur acceptably in English. Your equivalent of but may or may not occur in this context. Don’t consider English acceptability when you mark your answer.

Don’t worry about punctuation, e.g., the absence or presence of a comma or a period, or whether the sequence sounds better if the segments are combined into one sentence. 

Thanks for your help.

Questionnaire:
Name: ________________________  First Language: __________   but Term: _________

DM Use of but in English

1. John is fat, ____ Mary is thin.

2. John is not tall ____ short.

3. I suggest that you take some cookies, ____ leave the cake alone.

4. Take an orange, ____ leave the apples alone.

5. You promise to help me. ____ you let me down.

6. John is a cop, ____ he’s also a carpenter.

7. Take a peach, ____ take an apple too.

8. Don’t move your hand, ____ don’t talk either.

9. Take one, ____ don’t take more than one.

10. I’d take more, ____ I’m full.

11. I could give you this book, ____ frankly, I don’t want to.

12. I’m a nurse. ____ my husband won’t let me work.

13. I know this bus goes to Count Hall. ____ does it also go to the gym

14. The lunch is on the table. ____ don’t touch anything.

15. A: It’s warm in here. B: ____ turn up the heat anyway.

16. A: What time is it? B: ____ don’t you have a watch?

17. A: What time is it? B: ____ why do you want to know?

18. Take a drink, ____ be careful you don’t spill any.

19. I cut a finger yesterday, ____ it wasn’t mine.

20. John died yesterday, ____ he had been ill.

21. A: John speaks perfect German. B: ____ he was raised in Germany.

22. A: John was assassinated in Dakar. B: ____ I always thought he died of natural causes.

23. A: Now you know all the facts. B: ____ I’m still not convinced he is guilty.

24. Say what you will, ____ you’re not going to make me get upset.

25. The flower was beautiful, ____ it was plastic.

26. A: Consider this triangle. B: ____ this figure has four sides.

27. A: All the boys left. B: ____ there were only two boys to start with.

28. A: I realize that John is sick. B: ____ John isn’t sick.

29. A: When did he die? ____ he didn’t die. he only left town.

30. A: I apologize for disturbing you. B: ____ you have nothing to apologize for.

31. A: John is home. B: ____ I just say him at the store.

32. I should have tried to open the door. _____ I simply ignored the boys.

33. Mary didn’t make a trivial mistake. _____ she made a horrendous error.

Not Systematic Uses of but that might occur in your language

1. Everyone ____ John was here.

2. Nothing ____ soda would satisfy her.

3. He is nothing ____ a child.

4. I have ____ a moment.

5. If you could ____ explain, I’d be very grateful.

6. You may think I’m crazy, ____ where is the dog?

7. I’m not sure if this is relevant, ____ isn’t that bag leaking?

8. A: Is it finished. B: ____ of course it’s done.

9. A: John didn’t leave. B: ____ of course he didn’t leave.

10. He has all ____ clinched the championship.

11. I can’t help ____ obey her.

12. Thanks are due to John and Mary. ____ above all, I want to thank Harry.

13. ____ for the grace of God, there go I.

14. I will get you ____ good.

15. You have to get up early. ____ after all, how much sleep do you need.
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� I am not considering the use of but in connection with any other CDMs, for example, “We started late but arrived on time, nevertheless” or with DMs from another class, for example, “He restricted her to home for two weeks, but, in addition, took away her computer.” See Fraser (2005b)


� This inventory of English CDMs is intended to be exhaustive although it excludes archaic cases like contrariwise, and notwithstanding. 


� Some CDMs which signal the type of direct contrast are optionally present, some obligatorily. I will not address this here. See Fraser (2005a)


� This sort of contrastive context is discussed below.


� Note that in (8e) that the “not only” is obligatorily deleted when S2 is an interrogative.


� The also marker occurs optionally when the segments are conjoined with and, but with one salient difference: the sense of contrast is absent, reflected by the unacceptability of the not only.


	a) John is a cop and/but he is also a carpenter.


	b) John is a cop and/*but he is a carpenter.


	c) (Not only) is John a cop *and/but he is also a carpenter.


� As in most of the cases, all members of a defining group of CDMs do not occur in every variation of the particular DCC at issue.


� If the verb contains incorporated negation, e.g., disagree, the sequence is not acceptable, presumably because to disagree, for example, is considered an action performed, while to not agree is considered the action of agreeing but not performed.


� The modal would is not acceptable, as in “I would have done it. Instead, I just sat there and watched.”


� Here, also, an incorporated negation is not possible


� Interestingly, when S1 represents an assertion of a positive state attributed to another, a denial such as “That’s incorrect” or something analogous may replace on the contrary.


You said that she made a trivial mistake. That’s incorrect/On the contrary, She made a 


horrendous error.


� Bell called this “cancellation” and Blakemore refers to the process as “contradiction and elimination.”


� The CDMs although, whereas, and while are subordinate conjunctions and are not considered here.


� However and other CDM discussed above may occur in this ICC, but they signals a “contrary to expectation” interpretation.


� I am referring to pragmatic not logical presupposition.


� The defining conditions on an Illocutionary Act must be satisfied if the act is to be successful. The Felicity Conditions must be satisfied if the act is both successful and without defect. Cf. Bach & Harnish (1979).


� Note that except for but not but can occur initially








